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SFSEE KET —REEDRKLSS GRIR) KE#EREHEGTAE
S AR AR B AR A A AL (A 1 [EHIE 53 )
- . "™ BEAl FiE H#20a] 53[a] Al #5500 56[a] F7IE F58lal [ 2°] I I 9 (] =1 I B 3 B 1 51 I B S A i
B S ) 4/21 5/16 6/6 7/4 8/1 9/5 10/3 11/7 12/12 1/23 2/13 3/5
p HOKFHEA A IR ) 5.8~8.6 7.8 7.8 7.4 7.3 7.6 7.1 7.4 7.5 7.5 7.8 7.6 7.8
BOD (ZE 41k 5 22 oKk ) mg/0 60 0. 54| 0. 5[ 0. 5A | 0. 5AH | 0. 5A | 0. 5AH| 0. 5ATM | 0. 5ATH| 0. 5AM | 0. 5AT| 0. 5AIG 1.1
COD ({2 4 223K ) mg/0 90 0. 5A | 0. 5ATi 0.7 0.9 0.9 1.1 0.7 0.8 0.7 0.7 1.1 0.7
SS (PPl B mg/0 60 URIE| UREG| RN KRG R DRI UREE| UREE| RN DRI R 1.0
IR mg/ 0 120 3.3 2.4 2.3 2.7 2.3 3.5 2.5 3.0 2.7 3.1 2.9 2.7
NS K 0 fEH OKIBEE. A1 S v DB EERS
R AR E R AR R (3 1 BEREESY)
BRI P o mEa| e 2 £ 3[m] FAlE] H55[H] 56[m] CE] 558[H] 0] 1 -0 (O 51 I =0 B N 51 = A A i
A5y 3 ok e FEUE(E 4/21 5/16 6/6 7/4 8/1 9/5 10/3 11/7 12/12 1/23 2/13 3/5
3 BRIZE R mS/m — 9.9 10. 1 10. 4 10.7 11.1 10. 1 10. 1 10.7 10.7 11.7 11.1 11
o A A mg/ 0 - 7.9 9.2 6.6 6.9 6.9 6.3 6.1 6 6. 4 7.9 7 6.3
» BRARE R mS/m — 10.7 9.4 9.9 9.9 10. 3 9.4 9.2 9.6 10. 3 10. 4 10. 1 10. 2
" sfA A mg/ 0 - 6.4 8.3 7.9 8.2 8. 4 7.0 6.8 6.8 7.0 7.2 7.2 7.2




